ZCOD

Network Paging Gateway
X10

Quick Installation Guide




Package List

X10 SIP Paging Gateway
(1 pes)

Mini Screw Driver
(1 pcs)

Warranty Card
(1pes)

é- -
Ce, &=

M4*10 Clamping Screws
(4 pes)

oL O

Grounding Cable
(1pcs)

2o
ey
‘

Quick Installation Guide
1pcs)

Phoenix Connector
(1pecs)

Network Cable
(1 pcs)



» English «

System Login Wizard

@ Connect X10 to DC adapter or PoE network cable.

@ After start-up, press the volume+ button and volume- button simultaneously for about 3
seconds. Then X10 will play the IP address as it's DHCP by factory default settings. If
it's failed to get the IP address, please use the default IP address 192.168.1.101. You
can login X10 Web GUI with that IP address via your browser. The default username and
password both are admin.

Installation

@ Drill 4 holes on the mounting rack for M4 Clamping Screws as per 143*46mm as
below dimension diagram.

@ Fix X10 into the mounting rack via M4*10 Clamping Screws.

® Connect X10 with DC power, network cable, phoenix connector and grounding
cable.

143.0 mm

o B

hmommﬂ
I
A
lt—76.0mm —— ]

A

153.0 mm

N



DC 12v

o

I:

ETHO+POE
|

@)
@

Terminal

ETH1
|

ETHO(PoE 802.3at)

ETH1

System LED Indicator
Power LED Indicator

Vol-

Vol+

Reset Button

Power Cord

®

N

— AUDIO —

out

O O

~RELAY~ DIN LED2 KEY2 LED1 KEY1 ~SPEAKER-
NOGOMNG + - + - - + + - - + Re R L L+

3.5mm jack for audio in (Microphone Only)

3.5mm jack for audio out

Speaker Left+
Speaker Left-

Speaker Right-

Speaker Right+

Button 1 Switch+

Button 1 Switch-

Button 1 LED-

Button 1 LED+

Button 2 Switch+

Button 2 Switch-

Button 2 LED-

Button 2 LED+

Digital Level Input-

Digital Level Input+

Dry Contact Signal Normally-Closed Output
Dry Contact Signal Common Input

Dry Contact Signal Normally-Open Output



Wiring method

o
¢ 0 DIN+ X ¢
> e
@ DIN- <2 &
o <
@ ] TTL- S o

TTL+ g
TTL level is equal to B
2-6VDC

Restore Factory Settings

Press the Reset button for more than 5 seconds, and release it until X10 plays the voice
prompt. X10 system will reboot, and the system LED goes out. After factory settings are
successfully restored, the system LED will be flashing.



» A <«

AREREM

O EIFBIR (BIPOE) KM%,

O gEBRMRME, RIHRESEMEE, REHTIPER, HBIADHCP, EHRIKEE
Mok, MEAZRIPHINEN192.168.1.101, EERENEFMAAZBMAIPIYE, BIETHA
REERAA, REREMAZEBEENadmin,

O BRTERT143 46mmIERELE L, HFAMMURLIEETL;
O (EAMA 0RLERBREEEERERL;
O EEEREIR. W&, RERT. k.

i
il
-

46.0 mm

0
vV o
H776.0 mm 4’4

153.0 mm



|

@

@

ETH1
|

L,
|

8
o O 0o

voL+
|

RST
|

DC 12v
°
[Sacac)

|

I;

it

AR $EA+POE

BARER

RGHETIT
RIS TAT

ot
o

TR

BERETM

WE IR ERR

BRERED

@

O O

out

3.5mmEMEOMAN (IRZHFFETK)

~RELAY~ DIN LED2 KEY2 LED1 KEY1 rSPEAKER-
NOGOMNG + - + - - + + - - + Re R L L+

3. Ot

EEERHHER
EEEREH AR
AR H AR
AR ER
HRIFFRIER
BRI R AR
BRUSTITHAR
BRUSTITER
T RIEMR
R R AR
BRAUSTIT AR
HRUSTRITER
BFEFHNAR
BT BFHNER




REH

o
< HE
& o X%
5 DIN- 2 &
758 < =
52 1 TTL- S W
TTL+ S i

TTILEEEESTF -~

2-6V DC

REHIRE

KFWELRESPD UL, WEESRTENRA, REFARERERS, RRABTITE
R, WEMRNE, RABTRATHNNIFRE,



» Francgais <

Assistant de connexion au systéme

@ Connectez le X10 a I'adaptateur CC ou au cable réseau PoE.

@ Aprés le démarrage, appuyez simultanément sur le bouton volume+ et le bouton
volume- pendant environ 3 secondes. Ensuite, X10 lira I'adresse IP car il s'agit de DHCP
selon les parametres d'usine par défaut. Si vous ne parvenez pas a obtenir I'adresse IP,
veuillez utiliser I'adresse IP par défaut 192.168.1.101. Vous pouvez vous connecter a
l'interface graphique Web X10 avec cette adresse IP via votre navigateur. Le nom
d'utilisateur et le mot de passe par défaut sont tous deux admin.

Installation

@ Percez 4 trous sur le support de montage pour les vis de serrage M4 selon 143 * 46 mm
comme dans le diagramme dimensionnel ci-dessous.

@ Fixez X10 dans le support de montage via des vis de serrage M4*10.

© Connectez le X10 avec une alimentation CC, un cable réseau, un connecteur Phoenix et
un cable de mise a la terre.

143.0 mm

153.0 mm

’4746 Ommﬁ
i
)
B
la—760mm —— ]

A



|

@

@

ETH1
|

ETHO+POE O
|
I

O

o O 0o
|
I

RST
|
I

PWR
|
I

voL+
|
I

Borne de mise a la terre

ETHO(PoE 802.3at)

ETH1

Indicateur LED du systéme
Indicateur LED d'alimentation

Vol-

Vol+

Bouton de réinitialisation

DC 12V
°l |
[S2Cz¢)

|

Cordon d*

@

N

O O

out

Prise jack 3,5 mm pour lentrée audio
(Microphone uniquement)

Prise jack 3,5 mm pour sortie audio

Haut-parleur gauche+
Haut-parleur gauche-
Haut-parleur & droite-
Haut-parleur droit+
Bouton 1 i +
Bouton 1

Bouton 1 LED-
Bouton 1 LED+

Bouton 2 i +

~RELAY~ DIN LED2 KEY2 LED1 KEY1 ~SPEAKER-
NOGOMNG + - + - - + + - - + Re R L L+

I;

Bouton 2
Bouton 2 LED-

Bouton 2 LED+

Entrée de niveau numérique-

Entrée de niveau numérique+

Signal de contact sec, sortie normalement fermée
Entrée commune du signal de contact sec

Signal de contact sec, sortie normalement ouverte



Méthode de cablage

=
Q O DIN+ é i
2 t DIN- 22
= TTL- > $
@ TTL+ S
Le niveau TTL est -
égalaz2-6vCC

Rétablir les paramétres d'usine

Appuyez sur le bouton Réinitialiser pendant plus de 5 secondes et relachez-le jusqu'a ce
que X10 diffuse l'invite vocale. Le systeme X10 redémarrera et le voyant systeme
s'éteindra. Une fois les paramétres d'usine restaurés avec succés, la LED du systéme
clignote.



» Lingua italiana <«

Procedura guidata di accesso al sistema

© Collega X10 all'adattatore CC o al cavo di rete PoE.

@ Dopo l'avvio, premere contemporaneamente il pulsante volume+ e il pulsante volume-
per circa 3 secondi. Quindi X10 riprodurra I'indirizzo IP poiché € DHCP per impostazione
predefinita di fabbrica. Se non & possibile ottenere I'indirizzo IP, utilizzare I'indirizzo IP
predefinito 192.168.1.101. E possibile accedere alla GUI Web X10 con quell'indirizzo IP
tramite il browser. Il nome utente e la password predefiniti sono entrambi admin.

Installazione

© Praticare 4 fori sul rack di montaggio per viti di serraggio M4 da 143 x 46 mm
come indicato nello schema dimensionale sottostante.

@ Fissare X10 al rack di montaggio tramite viti di bloccaggio M4*10.

® Collega X10 con alimentazione CC, cavo di rete, connettore Phoenix e cavo di
messa a terra.

143.0 mm

o B

’4746 Ommﬁ
)
A
lt—76.0mm —— ]

A

153.0 mm

10



e 12v

Interfacce

@ @
O @1 Terminale di messa a terra .
[z Jack da 3,5 mm per ingresso audio (Solo microfono)
o
5
w S
g <5 —
£ 11 ETHooE 802.3at) L3 Jack da 3,5 mm per uscita audio
&
L P sinistro+
) D sinistro-
o,
N s P destro-
£+ e T p destro+
e Pulsante 1 Interruttore
I
N Pulsante 1 Interrutt
05 OF I [more g0 dssem 5 Puisate 1 LED.
H H ndicatore j alimentazione 8. Pulsante 1 LED®
2 o Pulsante 2
2 4 8
Og Vol kX Pulsante 2 Interrutt
. a8 Pulsante 2 LED-
O S T Ve ] Pulsante 2 LED+
z Ingresso livello digitale-
le) Q 4 puisante di reset o. Ingresso livello digitale+
i 2 Segnale di contatto pulito Uscita normalmente chiusa
3
.& 8 Ingresso comune segnale contatto pulito
L2 Segnale di contatto pulito Uscita normalmente aperta

§ —|—— Cavo di alimentazione




Metodo di cablaggio

=
® \o DIN+  Xim
3 i DN- S
3 TTL- 353
TTL+ S
Il'livello TTL & pari
a2-6vVCC

Ripristinare le impostazioni predefinite

Premere il pulsante Reset per piu di 5 secondi e rilasciarlo finché X10 non riproduce il
messaggio vocale. Il sistema X10 si riavviera e il LED del sistema si spegne. Una volta
ripristinate con successo le impostazioni di fabbrica, il LED del sistema lampeggera.

12



» Pycckumn <

MacTt BXO4a B CUCTEMY

® NoakniounTe X10 K aganTepy NOCTOAHHOIO TOKa UK ceTeBoMy Kabenio POE.

® Mocne 3anycka 0HOBPEMEHHO HaXMUTE KHOMKY FPOMKOCTH+ U KHOMKY FPOMKOCTH- 1
yaepxuBainTe ux okono 3 cekyHg. 3atem X10 6yaet BocnpoussoauTb IP-agpec kak
DHCP no 3aBoAckMM HacTpoikaM no ymonuaHwuto. Ecnu nmonyuntb IP-agpec He
ynanoch, ucnonb3yite |P-agpec no ymonyanuio 192.168.1.101. Bbl MoXxeTe BOWTU B
Be6-uHTepdeiic X10 ¢ 3TuM IP-afpecom yepes 6paysep. MM nonb3osaTtens u naponb
no ymonuaHuio — admin.

OHTaX

© NpoceepnuTe 4 OTBEPCTWS B MOHTaXHOIW CTOMKE A5 3aXWUMHBIX BUHTOB M4
pa3mepoM 143*46 MM, Kak NMoKazaHO Ha CXeMe HUXKe.

@ 3akpenute X10 B MOHTaXHO CTOMKE C MOMOLYbIO 3aXMMHBbIX BUHTOB M4*10.

© Mopknounte X10 K MCTOUHMKY MUTaHUA MOCTOSHHOTO TOKa, ceTeBoMy Kabenio,
pasbeMy Phoenix 1 kabenio 3aseMneHus.

143.0 mm

o B

153.0mm

’47460mm4>1
0
A
lt—76.0mm —— ]

A

13



svs

DC 12v

°

|

@

L,

NHTepdencel

@

Knemma

——— ETHO(PoE 802.3at)

O

|

£ ethn
= Ci ] cncTemsl
O3z | Ceeromuontbiit ungmkatop nuTasus
O8g 1 vor
O3 1 voir
O

RsT
|
I

I Kronka c6poca

Wkyp nurakms

Pazbem 3,5 MM 4nst ayauoexoaa (Tonsko MUKPOGOH)

Pazbem 3,5 MM 4ns ayauoBLIXOAa

Dumamu cnesat
DuHamuk cnesa-

[uHamuk cnpasa-
Luamm npassiii+

Konka 1 Mep

Kronka 1 Mepy
Kronka 1 C

Kronka 1

Kronka 2 Mepy

Kronka 2 Mep

Kronka 2 Ci

FRELAY- DIN LED2 KEY2 LED1 KEY1 ~SPEAKER-
NOGOMNG + - + = = + + = = + Re Re Lo Ls

f

Knonka 2

LInposoit Bx0R yposHa -

LInposoii Bxon yposHa +

CHrHan cyxoro KoHTaKTa HopMansHo 3aKpbITbIiA BBIXOA
OBWiWit BXOR CMPHaNa CYXOrO KOHTaKTa

CHHaN CYXOro KOHTAKTa, HOPMANbHO OTKPLITLIN BBIXOA,

14



Cnocob nogkoyeHus

O DIN+

I DIN-
TTL-

TTL+

YposeHb TTL paBeH 2-6 B
NMOCTOSIHHOMO TOKa.

BoccTaHoBUTL 3aBOACKME HaCTpOVI KH

HaxmuTe KHOMKy cbpoca v ynepkuaiite ee 6onee 5 cekyHf 1 oTrnyckaiTe ee, noka X10 He

minnLefg
IV03/1A03/X10
Ei-cepus

BOCnpousBeaeT ronocosyto nopckasky. Cuctema X10 nepesarpyanTcsi, M CUCTEMHbI
cBeToAMOf, noracHeT. Mocne ycrnewHoro BOCCTaHOBEHUS 3aBOJCKMX HAacTPOEK CUCTEMHBI

cBeToavmog, bynet Muratb.

15



» Espanol <«

Asistente de ingreso Del Sistema

@ Conecte el X10 a un adaptador de alimentacion o cable de red PoE.

@ Luego del inicio, presione la tecla de volumen+ y volumen- por 3 segundos. EI X10
reproducira su direccion de IP DHCP en ajustes de fabrica. Si fallo en conseguir una
direccion de IP, puede intentar la direccién por 192.168.1.101. Colocando esta
direccion de IP en su navegador, podra ingresar en el panel Web del X10. El usuario y
contrasefa por defecto del X10 es admin.

@ Taladre 4 hoyos en el rack mountable para los tornillos de sujecion M4
143*46mm como lo muestra el diagrama de abajo.

@ Fije el X10 en el rack con los tornillos de sujecion M4*.

© Conecte el X10 con la fuente de alimentacidn, el cable de red, el conector fénix y
el cable a tierra.

143.0 mm

B

A

153.0 mm

"460mm4>1
D
v oY
la—76.0mm — ]

16



@)
@]

ETHO+POE
|

ETH1
|

HE

{— Terminal a tierra

{— ETHO(PoE 802.3at)

[ ETH1

3
o O 0o
|

RST
|

PWR
|

voL+
|

Indicador LED de Sistema
[— Indicador LED de Energia

[~ Vol-

[— Vol+

[— Boton de Reset

DC 12v
° |
[S2Cac)

|

Cable de Energia

17

DIN

~RELAY~
NO COM NC

KEY1 rSPEAKER

LED2 KEY2 LED1

L+ —AUDIO—
out

Rt R

Jack 3.5mm para entrada de audio (Solo micréfono)

Jack 3.5mm para salida de audio

Altavoz izq

Altavoz izquierd:
Altavoz derecho-

Altavoz derecho+

Boton 1 Switch+

Boton 1 Switch-

Boton 1 LED-

Boton 1 LED+

Boton 2 Switch+

Boton 2 Switch-

Boton 2 LED-

Boton 2 LED+

Entrada de nivel digital-

Entrada de nivel digital+

Sefial de contacto Seco Normal-Salida Cerrada
Sefial de contacto Seco Normal Entrada

Sefial de contacto Seco Normal ~Salida Abierta



Método de cableado

O DIN+

I DIN-
TTL-

TTL+

Elnivel TTL es igual a
2-6VDC

Restaurar a ajustes de fabrica

Presione el boton de Reset por mas de 5 segundos y suéltelo hasta que el X10 reproduzca
el anuncio de voz. El sistema de X10 se reiniciara, las luces LED del estado de sistema se
apagaran. Cuando los ajustes de fabrica se hayan restaurado correctamente, la luz LED de
sistema empezaran a parpadear nuevamente.

saJosuag
IVO3/1A03/X10
Serie Ei

18



Zycoo Communications LLC

WWW.ZYyC00.Com

© 2025 Zycoo Communications LLC All rights reserved





